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HH A= AR
7 2R R H AR 4B Sy 58Ky (B A
KELEATLAE T bR 2% 2R E 3R 4B Sy 438k (&L EE
7 2R 2R 4B Sy 208853 (B A
HH L 2 AB | Bl N8 | rEiEE
Eipve 66,311 663 81.01~82
B 66,311 663 94.01~95
EEE(A) 7,185 71 99.01~100
FE(B) 35,704 357 91.01~92
EE(O) 23,422 234 99.01~100
. HERIH—| 6,265 62 87.01~88
e N
HERIH | 6,265 62 87.01~88
. HEREH—| 2851 28 72.01~73
B IR N
HERIH | 2851 28 77.01~78
BHEIE TR | FEERIH—| 5435 54 95.01~96
EEt BEEERIEH | 5435 54 95.01~96
BB TRE | FEERIEH—| 6,961 69 93.01~94
EEH BEEERIH | 6,961 69 87.01~88
. HERIH—| 1,355 13 89.01~90
{ET Bt T—
HERIH | 1,355 13 87.01~88
VOFE — B — A Z2 M e | BERIH— | 1L771 17 74.01~75
- kB ———
HERIH | 1771 17 82.01~83
N HERIH—| 7,286 72 95.01~96
RLETRE ——
HERIH | 7,286 72 91.01~92
R HERIH— 94 0 —
T AR BT $$4 —
HERH 94 0 —
i | BEERFH— [ 14,372 143 91.01~92
P B TR T
HERIH | 14,372 143 91.01~92
. HERIH—| 3,038 30 79.01~80
KBB4 TR E
Tleu=pE— | 3038 30 87.01~88
N HERIEH—| 2930 29 93.01~94
ANGERF RS e —
HERIH | 2,930 29 89.01~90
et s HERMHEH—]| 1,141 11 87.01~88
YNGERF HEESE iﬂ —
HERIH | 1141 11 93.01~94
e e HERIH—| 897 8 83.01~84
Bl T
HERIH | 897 8 79.01~80
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HH AR
BT RE T S e
HH Y= AR
7 A BRETR AR AR 7y 564553 (B A
KREBERRIGE J7 M b W2 BRETRE SRHEER 7 PR (E LT
% A BRETRH 2R R 288853 (B DA
HH A= o NBL | B2 N8 | B
B 6,265 125 77.01~78
B 6,265 125 88.01~89
MRS B | 6265 125 91.01~92
HERLH | 6,265 125 82.01~83
BEpH | 6265 125 85.01~86
B 2,851 57 71.01~72
B 2,851 57 85.01~86
B I EE Lel(9) 2,851 57 75.01~76
HEpiH | 2851 57 67.01~68
HERIH | 2851 57 72.01~73
B 5,435 108 81.01~82
P Hix 5,435 108 91.01~92
Eﬂéﬁ.%ﬁ; FoTmea | sess 108 95.01~96
iakiade HERIH | 5435 108 91.01~92
R H | 5435 108 93.01~94
B 6,961 139 81.01~82
P Hix 6,961 139 92.01~93
= Aﬁfﬁ; T mEQ | el 139 | 95019
e HERIH | 6961 139 91.01~92
BpH | 6961 139 83.01~84
B 1,355 27 81.01~82
Hix 1,355 27 93.01~94
(TR gEC) | 1355 27 95.01~96
HEpH | 1355 27 85.01~86
R H | 1,355 27 83.01~84
B 1,771 35 77.01~78
Hix 1,771 35 89.01~90
T RELREREE Liel(®) 1,771 35 87.01~88
HERH—| 177 35 69.01~70
HEREH | 1771 35 79.01~80
B 7,286 145 79.01~80
Hix 7,286 145 89.01~90
VOF; B4 — A EE M aTEE FEE(B) 1,286 145 83.01~84
HEpH | 7286 145 93.01~94
BEpH | 7286 145 89.01~90
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BIL MBI 1482 4E A B (B AR S [5E  ERHARE ]
HHE FHE W2 AB | AP ANE | oRUEE
B 94 1 85.01~86
HE 94 1 99.01~100
TAZEE A HIE(C) 94 1 91.01~92
BEERIH— 94 1 69.01~70
HERHZ 94 1 93.01~94
B4 14,372 287 79.01~80
HE 14,372 287 90.01~91
PSSR B TR BE(B) 14,372 287 91.01~92
HERNEH—| 14372 287 89.01~90
HERIH | 14372 287 87.01~88
B4 3,038 60 71.01~72
HEL 3,038 60 77.01~78
FEEATEERE| 8520 3,038 60 83.01~84
HERIH—| 3,038 60 75.01~76
HERIH | 3,038 60 85.01~86
B4 2,930 58 81.01~82
HEL 2,930 58 97.01~98
SNERE AR #E(B) 2,930 58 91.01~92
HERH—] 2930 58 91.01~92
HERIEH | 2930 58 87.01~88
B4 1,141 22 77.01~78
HEL 1,141 22 89.01~90
SNEEREH ENE $E2(B) 1,141 22 75.01~76
HERH—| 1,141 22 85.01~86
HERIH | 1,141 22 89.01~90
B 897 17 71.01~72
HEL 897 17 82.01~83
E S NpiES = FE(A) 897 17 71.01~72
HEREH—| 897 17 79.01~80
HERIH | 897 17 75.01~76
o REREERLEE 7 HESR K VUF: —Hang— A B RERAG IR AT S A B = BIR - 2EEET

FEERPIR HRFr R~ BISC ~ /=
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BT EEMRIRCR SR AR AR R (B AR e [ =55 E ]

HH AR
BT RE T S 3R ~ HahE
HH Y= AR
7 A BRETR AR AR 7y 528R 53 (B DA
KREBERRIGE J7 M b 2 BRETRFE SRHEER 7 394k (&)L A
i A BRETRH 2R R 7y 278853 (B DA
HH A= o2 NBL | B3R N | B
B 6,265 187 75.01~76
B 6,265 187 86.01~87
MRS B | 6265 187 87.01~88
HERLH | 6,265 187 79.01~80
BEpH | 6265 187 83.01~84
B 2,851 85 69.01~70
B 2,851 85 81.01~82
ENPALG: it HIE(C) 2.851 85 71.01~72
HEpiH | 2851 85 62.01~63
BpH | 2851 85 69.01~70
B 5,435 163 79.01~80
P Hix 5,435 163 90.01~91
Eﬂéﬁ.%ﬁ; FoTmea | sess 163 95.01~96
iakiade HERIH | 5435 163 89.01~90
R H | 5435 163 91.01~92
B 6,961 208 79.01~80
P Hix 6,961 208 90.01~91
= Aﬁfﬁ; ¥ Tmema | 6ol 208 95.01~96
e HERIH | 6961 208 89.01~90
BpH | 6961 208 81.01~82
B 1,355 40 79.01~80
Hix 1,355 40 90.01~91
{ETRE ) | 1355 40 91.01~92
HEpH | 1355 40 85.01~86
R H | 1,355 40 83.01~84
B 1,771 53 77.01~78
Hix 1,771 53 88.01~89
oAmzsr | mEc) | 1771 53 83.01~84
HERH—| 177 53 67.01~68
HEREH | 1771 53 74.01~75
B 7,286 218 77.01~78
Hix 7,286 218 87.01~88
VOF? B4 — A EE M aTEE FEE(B) 1,286 218 79.01~80
HERIH—| 7,286 218 91.01~92
BEpH | 7286 218 86.01~87

at REZEERLRE ST ES R VUR BBt — AR ER R 2 Z = RIR - HEHE BN -
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ARAE (B = ERMsE ]

HHE FHE W2 AB | B3P AE | RUEE
B 94 2 83.01~84

HE 94 2 94.01~95

TAEEE R BE(O) 94 2 91.01~92
HERIEH— 94 2 65.01~66

HERHZ 94 2 93.01~94

B4 14,372 431 77.01~78

HE 14,372 431 88.01~89

PSS R $E(B) 14,372 431 87.01~88
HERIH—| 14,372 431 87.01~88

HERIH | 14372 431 87.01~88

B4 3,038 91 69.01~70

HEL 3,038 91 73.01~74

FEEFAEJEERE | 8EA) 3,038 91 75.01~76
HERH—] 3,038 91 75.01~76

HERIH | 3,038 91 83.01~84

B4 2,930 87 79.01~80

HEL 2,930 87 96.01~97

SNERE AR #E(B) 2,930 87 87.01~88
HERH—] 2930 87 89.01~90

HERIEH | 2930 87 85.01~86

B4 1,141 34 75.01~76

HEL 1,141 34 87.01~88

SNEREHEEA #12(B) 1,141 34 71.01~72
HERH—| 1,141 34 83.01~84

HEREH | 1,141 34 87.01~88

B 897 26 67.01~68

HEL 897 26 78.01~79

E S NpiES = BE(A) 897 26 67.01~68
HERIH—| 897 26 77.01~78

HERIH | 897 26 71.01~72

o REREERLEE 7 HESR K VUF: —Hang— A B RERAG IR AT S A B = BIR - 2EEET

FEERPIR HRFr R~ BISC ~ /=
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